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Nete : You must write the subject code/paper code
192 in the box provided on Sm title hmm& of
your answer-book.
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Make sure that the answer-book contains
30 pages (including title page) and are properly
serialed as soon as you receive it.
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Question/s attempted after leaving blank page/s
in the answer-book would not be evaluated.
ST-1T YRS 8¢ 57 @& -] vl € I5 |
Jdq T 39 fBa o9 3 Ty &g a7 g2 |
AFI-1 % 597 qg7 812 3 are 1-1 o 3 &1 59%
F G T% aF G 3w 7 & |
Questions of Part-I are of objective type
carrying 1 mark each. Answer of each question
should not be more than one sentence. ,

IO yAs BE 57 T8 44 Hai &
g5 | g9 T §39 fEq U6 37 du g &7 |

Je | fer v 9" dgt »is yHs 99 |
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" Questions of Part-II are of short answer type

)
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carrying 4 marks each. Answer of each question

should not be more than one page. Attempt any

eight questions from this part. g
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Questions of Part-III are of long answer type
carrying 6 marks each. Answer of each question
should not be more than two pages. Attempt any
three questions from this part.
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: Part-1
fdat »mEs 39 60 FE 3 e Bug T Wiez §
»HEs 99 3 '€ T ?

1
Up to which 585.9 an individual (F emale) less than
sixty years of age is free from income tax liability ? 1
799 ¥ @ A® wims 1,39,836 GUE I Tt 288A
3fo3 s e Re w=g | 1
At T A FT A 1,39,836%. Bt 4R7 288A % e T
3 a1 i tm T | 1
If A’s total income is Rs. 1,39,836 then rounding off
under section 288A. 1

TIgr 2an fsauge 3 wast v BEr di=r famr

 feagganr &t 9 ? 1
2R e ¥ g R ¥ R T G AR 2 L

What is agreement for relief from double taxation ? 1
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8z ¥ 2 coRgy zEEts JEt wHEs 3 CeH @
%ﬂnu@w@mmﬁﬁﬂﬂqu 1
L9 3 B Goraey SR 3 O W T H BUAT g

YT $ Jeq fordT S 8 7 1
Under which section avoidance of tax due to transaction
resulting in transfer of income is taken ? 3 1

HO 83t wHes ot g ? 1

IS PN A T ? _ 1
What is net agricultural income ? _ 1

. AOP T &t 3= 3 ? | 1
- AOPR T o ® ? o 1
What is meant by AOP ? b S |

nm@saamm@mﬂ%wmzdm?:%@wm&@
nnuﬂd%%%mm%%ﬂnu@w&w‘m%%

Wit O5 ? 1.
mﬂm%m@ﬁwmﬂgﬁﬂwnﬂﬂﬁwﬁmmﬂi ‘
o BE AU P AN IR E P 1
Under which section the deductions for donations to
- political parties out of gross profit is claimed ? 1
CBDTdt 3 ? | , 1
CBDT 7T % ? P kS 1
What is CBDT ? | 1
TDS 3 ? . | I
TDS#E ? | | 1

| 3 7 Ay =IzE =9 |

gm:m,,:uw..v . _ 1
192-SS : e ST

(3)

10. T 276 3foz &t A I madt I ? 1

qRT 276 B d8d F1 Gl B Gl & ? 1

[

What punishment is imposed under Section 276.7
EAG19
qr-11
Part-II

. ¥ fsguge 7% 2012-13 et wietfesft |ar »Es
mm.%aam.wﬂq_ﬂmr%uw%mu@%:mm
©5,25,064 guE I | 4

ﬂ%ﬂmos mwmzﬁ%ﬂﬁ_ﬁﬁ%a,
ot Al X %9 IE 5,25,064 5. & 4

Compute the amount of income tax payable for

" AJY 2012-13 when total income of Mrs. X is
“Rs. 5,25,064. -

.amaw?%w]ca@@m:%w@%m%gw

4

wisen &t feadt 3 gt @%E@.mﬁqa
4
Reré R & o A e 3 e @i T g A e R
%ﬁ%ggﬂﬂfnﬁmmﬁ%ﬁ
How can u&dﬂBmE of loss on sale of units acquited

within a period of three months from record date ?
| 4

- Explain briefly.
192-SS
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13. &3t v 2011-12 S »HEes 99 €M €aF @

14.

o (i) ol o 2,25000%. 81 4
Calculate income tax liability of Sh. M. mmmmmm ».oH :

15.

TI&E A9 | _ 4
Reflg ad 2011-12 3 T et i & & o Hif
4

- Discuss the rate of income. Sx for the Financial year
2011-12. o _ 4

&ﬁxdmmmqmmgémmo_w;m%A

WMHES dd e3ed U3T d98 3 99
() ©rt ¥u ¥ wiEs 50,000 R F w3
(i) fagr A3t »mies 2,25,0009u F 1

&ﬁ%ﬂﬂ.ﬂ%ﬂwcs i%ﬁzﬂ%ﬁ :

§Ia I g
@) ﬁ%&ﬂ%%moogm w e .

the assessment year 2012-13 if
1) H.:m noﬁ mmnoEEmo income is Rs. 50,000 and
(ii) Non agriculture i Soo.Bm is Rs. 2,25,000. A

:mg%%ammﬂmmammw_ 4

@ﬂ?%@ﬂ%m%&&%ﬂ%%%%ﬂ
oI HIfTT | 4
Explain the income of other persons to _u@ included in
the total income of an individual, - 4

(7) . _
16. Mm«ﬁ@ﬂwcamd@mmgam.%ﬁﬂ@
?

_ 4

wﬂg@ﬁﬂmaﬂz P A AR 38 B 7 4
How tax is assessed of a Hindu Undivided Family? 4

17. qq;m@w@wﬁ:mqmmgmmm@%
_ ad |- 4

BN ;mwsﬂaﬂﬁﬁﬂ%ﬂwﬁ%ﬁﬂf |
4
mx@_mE the tax mMmmmmBaE of firm under maoaos 185.4

18. E Aoeg3H fosa@ € w9 3 o9 ﬁqam o
U edesE 99 | 4
E@ﬁ%ﬂaﬁ@%ﬁﬂﬂﬂ%ﬁmﬁmﬂr
3 A I 4
Explain ‘briefly Em discretionary best Eamoaoa
assessment. - 4

- 19. ﬁm%%wmsﬂw.g@mﬁiﬂﬁ&nnw
wmn%mm%ﬁm&%%%ﬁw%umv 4

A%ﬂﬁ_ﬂw%sﬂﬂawﬁmm%ﬂﬂ
# FHe 3 W BEH S S 4
What are Eo provisions of law regarding deduction of
tax at source in respect of income from interest other
than interest on securities ? 4

b 20, mEs ohns @ witeet 3 MU ToeT @8 | 4

e FEeN B S W ag & == A 4

Discuss in brief the powers of settlement cOMMmIsS1ON.
4
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21. »itde fafifaw § wis 995 & aon et © woas

. 22,

23.

24,

192-SS

g | | 4
adite e # ordia & @ FEfi & avi S 4

Explain the procedure of mcmmm_ to appellate

~ tribunal. . 4
T €9 »3 ¥O-HT wUIT 995 o T Y wives
I3 fomt 3foz mar & ot feeme I ? 4 |

T AR T AN AR SR FT F 0§ St Ay
F Ted TN W T Aqe  ? 4

What is the provision of punishment under income

tax act for second time and subsequent offences ? 4
EAGIS I
-1 v
- Part-III

&g fevast war 89(1) St @e @ & Hawr 3 7
TgoE 99 | . 6

T s AT 89 (1) % e A4 A w ¥ 7 Ao A
: . 6
How a person can claim relief u/s 89(1) ? Discuss. 6

B vEs § WHS w9s 3 umie faR fawedt v b

WHES 99 foouages faR* 99d, RuHE WM e | 6

%%&%ﬂwwﬂﬁgﬂmmﬁ%ﬁﬂg |

o9 h IR B4, W 9aemed | 6

Clearly explain how would you compute the tax
liability of an individual on integration of agricultural
income ? _ . . 6

ﬁmmo 9th page |

|

L ‘

(9)

25. UG 56T VT waleofdt ¥ Ria deg o sewg o
mm@ﬁ:dmmo_mmﬁ:wmm@uﬁm%?ﬂ
Mg J
(i) 3547 14,100 € Yyt wder fimm 55 10%
IHt de  ufsa YT &3 fEw Wy 9t D
n3 Yaledfiet emar 12% Yires figr mr
ol . ,

(i) fogt faoe & &b e W faoe

-\ BT 18,000 quE I | ‘

(iii) =ozafu 937 8,400 Jue WD |

(iv) 70,000 U ¥ HIISt daw I 12% HEE
fenmey |

_. (v) W Rudt 3 mHes (Sesr diF) 29,560

que | ,
?c.%mﬁ%@ﬂdyﬁmm:w?sﬂa 300
QR | i
(vil) fem (RE®) 2,400 QuE |
(viii) Yita saw = Rewes 3,200 U |

. (ix) fEg USfoar e Sy fous =gt W& 3,300
o Jue - | S
 (x) AR ufsft B weas @ qust § 99
: mdﬁvm:wpooo.@w_ ]
(xi) WS €95 Gnd famfem dust © #m W €3
"3 momooomcw%msm@m@@%%ﬁ
xi)) WS T Yo GRS =it usHt 3 2,520 quE
Av%i:@%iéﬂﬁﬁ%&g
3 600 QuUB ydg o3 | BREt I8 MHES,
YHES 99 M3 99 HIS WHES U3T 9 |
3+2+1=6
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6 T 39 R B o e @ da B 31
2012 3 T A A ad & fre A fored €

(1)

(ii)

(iii)
(iv)
)
(vi)
(vii)

- (viii)
(ix)
(%)

(xi)

- (xii)

3 14,100 . sRre R & 10% TR HEH I8

s UrdRe s F o Ok ¥ aw gRERiE aw

12% sisem Rar s B

Rer BT 1 e R it B @ e

18,000 . ¥

FEART = 8,400 5. ﬂm.a_

70,000 5. 3 TN FTT | 12% i @ |
T R @ S (T B ) 29,569 5. |
TR o S F S U O & 3005 |

o () 2,400 5. |

e 3 FE H Aear 3,200 6. |

w o F A Ry @ B 3,300%. )
%%wﬁ%%?ﬂ%_wﬂﬂd

2,000%. R
..ﬂwwﬁ%ﬁzﬂﬂﬂw@_ﬁﬁ@mﬁ

60,000 . SEHIRAT T AT |

_ﬂwﬁmﬁwiwﬁa%ﬂmmmom

&w_ﬁwﬁmﬁﬁwﬂ%ﬁ%%aﬂaoom
o 69

amﬂ ﬂ aﬁd E_ﬂ&mﬂﬁ ﬁ mﬁ ,wﬁ.m wzmmm:w_a._

w+wi =6
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T
he following are the particulars of income of the
a GND university teacher duri

March 2012,
(i)

ring the year ending 31st

.m&w@ Rs. 14,100 per month from which 10%
is aoaﬁoaa for statutory provident fund and to
which the university contributes 12%.

(i) Rent free bungalow of the annual letting value
of Rs. 18,000.

(iii) 'Wardenship allowance Rs. 8,400 per annum.
(iv)  12% interest on Government loan of Rs. 70,000.

(v) Income from house @3@3@ (Computed)
Rs. 29,560.

(vi) Interest on @88_ saving bank a%oﬁ Rs. 300.
(vii) Interest Gross: Rs. 2,400.

(viii). Examinership remuneration Rs. 3,200.

(ix) Received Rs. 3,300 ».9. writing articles in a

Journal. : .

(x) Paid Rs. 2,000 to GIC 9% ormacov under
| mediclaim.
(xi) Ucazm the wmma sold share of Reliance
'Company and earned a long-term. capital gain
of Rs. 60,000.
(xii) During the year paid Rs. 2,520 as life insurance
premium on his own policies and spent Rs. 600
on books mﬁogmoa for his own use.

Find out the total income, Income tax and

exempted income. 342+1=6
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27.

(12)
Ffedqed Wog® MY wEs afiEeg @ miftarat €t
vaur a3 | - | 6

STARTFR SR T ST BT B S & =rat i |
’ 6

Discuss the powers of U_RQQ General and Income

Tax Commissioner. , . 6

fradtt yriEnt 9 g Tut © vl S

&ﬁwﬂmeﬁp:mﬂ%maﬂgﬁmmqﬁ

AT | : 6
mﬂ%ﬂ&mﬂiﬂ_%nﬁ@ﬂwﬂi
H W FRifETy ey § wEmd o 6

What are the circumstances in which a claim for
refund of tax may arise ? Explain fully the Eoomaﬁa
for Q»:Enm arefund. : 6
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